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@ Let M be a model and F be a property;

. _ I @ let there be N no of processes
® SU[;!]J[ISE itis to be veritied whether Mi=F ® let AP:idx be an |AP in a leaf of an open branch of the Tableau tree
singe MeF =E(M—=>F) =) (s uppase). It is to be verified @ Find out from the Model, State Transition Diagram (STD), of the i (choice)
whether b is valid ar et ie. the ableaw tree of -} s individual process, the set S of states in which ~AP holds
, ‘ @ |.Create Root:
U R i ﬂ[lrt. Far each s € S construct an N-tuple N with i (by choice) element s and rest as ? (unknown)

and create root node r=gN

@ 2.Create Children of Root:

@ o enpsipyet he nlsawy ol ﬁ((M%F)) in. (M*-F) @ J.Create Children using (actiopn— guard):
- Al | b | ¥ @ 4.Refine Children:
R GRS R R *.I i TI‘I.%-Z' __i_'J i hh| JI‘ I
® Jl RIUUS | | F @ a.Refine Parents: and all the Ancestors
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sl O3S The LCR Leader Election Protocol
The Steps

(1 1*"process is Initialized; holds in state s, (i)
N — - A o : 1y IF) (l i an il B F" process Is Ready to be either Leader o Follower;
SRk i noemn e and 2 2 (hy P nniee
@ Saleetan npan braneh and an WP (by vhoizs) A8 ot
th : . : ;
— ( ) ; ( ( M}' )) " process is elected as Follower; holds in state s5(i)
L k - SUCC W1’ SUCC _ 0> WO ' Process is either ‘Elected” or ‘Elected & Declared’.
" 7 _ P
® n he Haclkward Traversal B find o eomputation 35 W Rnator; Wt h shates 3.4} & 3.0

it" process sends (either msg or UID(i)) to its
neighbour (i+1)"" process)
The content that the (" process receives from its
neighbour ((1-1)" process)

iyl

@ Unify the sties with he index suece(w,, suce(

1= sur) UG)

T3( ) _ ype(V@)=Y@>U() T5(i) = V(I)—_U(l) .~ A special message by the leader to inform others that
WU'»' WO)) SD()=v() SVB('Q:::E a leader has been elected.
® | — e e ‘ S T, R T4(l) — type(V@D)=-DYEXUE) T ([) = g : The Unigue Identifier of t_he 1" prOCesSs. _
Jf"t] ne W2 wniEannn 1w 2o e o LA i SD(i)=null SDA-msg \ .. ) The type of the variable x. It can be either
i ()= V (i)#msg Tg(i) = :;‘)""39 | ’id§rrj:if_ierf ur Isjp-eci_al message.
J ) e DL L )Ll SD(i)=null ()=null The ‘identifier” type.
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N L(3)! F(’l’) ®6.1.4 = _‘L(k) . SHCC(WP SHCC(_WD! WD))

324> N L(3), F(1) 92={N4/ W 0 N3/ Hﬂ[ Y NZ/ W |} R/l w624 :(l#k):w,
2 e'3={N3/ W, NZ/ A . N1/ Y |_} 20 ) N, L(3) 96.2.5.1.1: ~(U (k) >U (L)) : wy
[/l | |
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